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<JavaZoyss>
//% 5 ZShop
import java.util.ArrayList;
public class Shop {
private String sName;
private ArrayList<String> cName = new ArrayList<String>Q);
private int[] pt, sTotal, aTotal; private int atTotal;
public Shop(String sName) {
this. sName = sName;
this. cName. add("");

l (H HBEINTWEAY v FOFHMIZNESEHE11
public void calc(int cCode, int sales, int tSales) {

int idx = cCode % 1000;

L [§)) J;

aTotal[idx] += tSales;

atTotal += tSales;

public void sort(Q {
int tmp, work;
for(int m = 1; m < cName.size() - 1; mH) {
tmp = m;
for(int n = m + 1; n < cName.sizeQ; nt) {
if (| 2 D |

tmp = n;

}
if(m != tmp) {
work = pt[m]; pt[m] = pt(tmp]; ptltmp] = work;

}

}
public void output() {
System. out. printf("%-3s [F2 E&%EAET : % 9d] ¥n", sName, atTotal);
double cShare = 0.0;
int count = 0;
aTotal[0] = 0;
for(int r = 1; r < cName. sizeQ; r+H) {
double share = (double)
cShare += share;
if(cShare < 70.0) {
count += 1;
}else if () ] cShare >= 70.0) {
count += 1;
aTotal[0] = 1;

System. out. printf(" %8s %3d % 7d %4.1f% %5. 1£%¥n", cName. get(pt[r]), sTotallptl[r]], aTotallpt[r]], share, cShare);

}
System. out. printf (" RFEFE_EHRATORBLI LTS 3 T TORKEEK %3d#¥n", count);

}

}
//7 5 ZSalesAnalysis
import java.io. BufferedReader;

public class SalesAnalysis { .
private static String[] sName = { "", "/KFJE", "“&EE", ~ "WEE", "JI&FE" };
private static Shop[] sObj = new Shop([10];
private static int[] pPrice = { 0, 500, 550, ~ 600, 650 };
public static void main(String[] args) {
for(int g = 1; g < sName. length; g++) {
sObj[g] = new Shop(sName[g]);

try {
BufferedReader fileInl = new BufferedReader (new FileReader("client.csv"));
String line;
while((line = filelnl.readLine()) != null) {
String[] str = line.split(",");
int cCode = Integer. parselnt(str[0]); String cName = str[1]; sObj[cCode / 1000]. setData(cName);

filelnl. closeQ;
for(int i = 1; i < sObj. length; i++) {
sObj[i]. arrayDinQ;

BufferedReader fileIn2 = new BufferedReader (new FileReader("selling.csv"));
while((line = fileIn2.readLine() !'= null) {
String[] str = line.split(",");
int cCode = Integer. parselnt(str[1]); int pCode = Integer. parselnt(str[2]); int sales = Integer.parselnt(str[3]);
int tSales = sales * pPrice[pCode];
| (5) |(cCode, sales, tSales);

}
fileIn2. closeQ;
} catch(Exception e) {
System. out. println("T S —MFEEL I L" + e);

for(int i = 1; i < sObj. length; it+) {
sObj[i]. sortQ;

Scanner keyboardIn = new Scanner(System. in);
System. out. print ("ESHES (1~ %2 AL TL #2&W—>"); int shopCode = keyboardIn. nextInt();
while(shopCode != 0) {

sObj [shopCode]. output () ;

Systen. out. print ("fESEFES (1~ 2 AL TL & W—"); shopCode = keyboardIn. nextInt();

keyboardIn. closeQ;
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Option Explicit
Dim Tmei(10) As String, Mei(50) As String, Ken As Long, ~ Work(50, 20) As Long

Private Sub UserForm_Initialize()
Dim Mban As Long, Mmei As String, Mtan As Long, ~ m As Long
Tmei(1) = "2 E": Tmei(2) = "FEHE": ~ Tnei(10) = "Rk "
Call Syokika: Labell. Caption = ""
Open ThisWorkbook.Path & "¥menu. csv" For Input As #1
Do While Not EOF(1)
Input #1, Mban, Mmei, Mtan
Mei(Mban) = Mmei: Tanka(Mban) = Mtan
Loop
Close #1
Ken = Mban
Open ThisWorkbook.Path & "¥kinmu. csv" For Input As #2
Do While Not EOF(2)
Input #2, Jcode, Kji
Than = Int(Jcode / 100)
Jkei(Tban) = Jkei(Tban) + Kji
Loop
Close #2
Open ThisWorkbook.Path & "¥uriage.csv" For Input As #3
Do While Not EQOF(3)
Input #3, Hi, Tban, Mban, Kban, Su
Kin = Su * Tanka(Mban)
Foe = (Kban - 1) * }0 + Tban
Ukei(0, Soe) = Ukei(0, Soe) + Kin
Loop

Close #3
For g = 1 To 10
Nuri = | 2) |
Labell. Caption = Labell. Caption & Tmei(g) & " " & Format(Format(Jkei(g), "##,##0"), "6666EE") & " "&
Format(Format (Nuri, "##,##0"), "00660@") & Chr(13) & Chr(10)

Next g
For [ (3] |
For h = 1 To Ken
Vork(h, i) = h
Next h
For k =1 To Ken - 1
Max = k
For m =k + 1 To Ken
If [

(4) | Then

Max = m
End If
Next m
If k <> Max Then
e ¥grk(0, i) = Work(k, 1i): Work(k, i) = Work(Max, i): Work(Max, i) = Work(0, i)
n
Next k
Next i
End Sub

Private Sub 43#7_ClickQ
Dim p As Long, r As Long, Ritu As Double, Rui As Double, Msu As Long
TextBox3. Text = ""
Ukei(0, 0) =0
Than = Val(TextBox1. Text)
Label?2. Caption = Tmei(Tban)
Kban = Val(TextBox2. Text)
If Kban = 1 Then
Label3. Caption = "4 — b A V"

se
Label3. Caption = "7 427 79 b"

nd
Soe = (Kban - 1) * 10 + Than
For p = 1 To Ken
r = Work(p, Soe)
Ritu = Ukei(r, Soe) * 100 / Ukei(0, Soe)
Rui = Rui + Ritu
If Rui < 70 Then

Msu = Msu + 1
Elself | (5) ] Rui >= 70 Then
Msu = Msu + 1
Ukei(0, 0) =1
End If
TextBox3. Text = TextBox3.Text & Mei(r) & " " & Format(Format(Ukei(r, Soe), "#,#it, ##0"), "00600EGEE") & " "&
Format (Format(Ritu, "##0.0"), "@6@@6") & "% "& _
. Format (Format(Rui, "#10.0"), "@@086") & "%" & Chr(13) & Chr(10)
ext p
Labeld. Caption = Msu
End Sub

Private Sub 27 Y 7_Click(Q
Call Syokika
End Sub

Private Sub #7T_Click(Q
End
End Sub

Private Sub Syokika()
s gegtBoxl.Text = "": TextBox2.Text = "": Label2.Caption = "": Label3.Caption = "": TextBox3.Text = "": Labeld. Caption = ""
nd Sul
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